Fre

Tao Nan School
Pimanry Three Science End-of-Year Examination 2004

Name ©_ o | O Date @ 1 Neow 2004

Class @ P3C ) Curation: 1 hour

Barent’s Signature @ . o NMarks: - /100

Section A : (30 X 2 mueirks )

For each question, choose the most suitable unswer ond'siade s coresooncing
ovalin the ORS. -

Which of the following groups af animdils are maesamals ?
(1) Sheep, exagle, damsalily

(2) Eephont deer, grasshopper

(3) Monkey, goat, whale

(£4) Frog. lizard, mesauito

2. Study the flow chari below.
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{ Is it coverea with hair ?
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Which of the following anirmnals can be epresented by A, B and C 7
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3. Which ©f the folowing products are miade of an outer coverng of onimals 2
Ay cotton shi
3) shuttiecock
C) leather bag

3y rubber fyres
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A and D oniv

B ond Conly
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(3 A Bane Conly
{4) B CanaDonty
4, o hernlovs an egg and sifs on if on 7 Apiit. when would the egg hatch 7

(1) 14 Api

(2% 28 ApH
{35 7 May
(&Y - 27 May
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6. Which part of the plant wifl become a fiuif <
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7. The diagram below shaws a plont grewing in the garden,

wWoodend

pos

Which of the following statements is/ate corect ?
(A)  This plant has reofs.
(B Thisplant has a weak stem.

(CH This plant is a fltoweing plant.

(1Y Bonly
(2) AandBony
(3) AandConly

{4) A BandC




5. Whict; of the following characteristics of frults ¢ correct 7

m_

s e

Fruifs. ]

! ) Pong Pong

Ecible, dry and light

Casuanna

Ineditle, dry and light

_ Watermelon

Coconut

o

ineclitie, fleshy ond heawvy

\

(1Y Pong Pong and Casuaning only
(2% Cosuceing and Watermeton only
(3) Wertermalon and Coconut onty

{45 Pong Pong and Coconut only

o Which of the plants below s pariiotly submearged inwater ?

.
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Which of the foltowing stalemeanits ore rue about ihe functions of 1ha stem

of apiant ?

A) It caries water and minera’s from e 100fs 10 ihe leaves and other
parts of fhe plant

B) I takesin water vapaur from ha Gir

C) I supports the branahes anct the leaves

D) R carries food frorm the lecves to olher parts of the plant

(1) AB and G only
(2) A CantdDonly
(3) A.BandDonly
(43 A B CandD

Study the concept mop below.
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Which of the abovea is incorrect 7
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Which of tha following can make ifs own food ?
A} picher plant
8} mushroom
Ch stag’s horn fem

D} moss

[1) Aanddonly

(2] CoandDaonly

(A%

1A O and D oonly
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What Jdoos g sead need befora it con garminaie

(1) Air
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Which stafemeris about fungi are true ?

FAY Fungicouse decay of foed

(B ! Fongiconnol make thelr own food

} Some fungi can be eaten by humans

O

4 D] Sore fungh.can grow on humarn skin
y Y AGngd Conly
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A, Band T only

AL B, Cand D
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13.

15,

Below are four statements made by Tom. Dick. Hary and Witkiem whifs

walking in a park.

(1
(2)

(3

(4)

Tom *Look at the beautiful redd Howers i
Dick : Ouch  Something it ma and # has wings.
Harry © Where is The bad smeil coming from ?

Williom : Can you hedr that, the cicap of the thunder ?

Which of the childran ussd more than one sensa ogan >

NMost pofs havehandles made of plashic. This is because piasiic
(1) is watemproof

{2y s soff ond nice 1o Touch

(3) dosesnotheat ury easily

(4) deesnot change colnur Seisily

Changes take place of different jates. Arrange the four ahanges list

below from the slowest To the fastest

(A)
(8)
qep
(02

Tne change in season:
The change from day to nighi -
The hatching of a chick from an egq -

The inflation of o ballcon

ACBD
B A,
A B D
B A [
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How cra the butterdly and the orickat similar ¢
{3y Bolh have 3-stage life cycles.

(2 Rothhave 4-stage life cycles

() Bothloy eqggs in The water

(&) Bothlay eggs onland,

Which of the following shows tha life ayciz of the animai balow 7

(1} EBag-——"> nymph % gdutt
{.2) EBgg-———  lava e adult
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Which s the largest organ in the human bady 2
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Which part of the body has the same kind of joint as the nip joini?

() )

Body System

P b e e e i | e e 5y
Circulatory System E Dicestive Syster |
b !
Hear L Smatintesting
Blood vessals f Uver s
Lungs’ = » ) Siomach
Which of the following:have been wrongly classitied -

A and B only

woN o —

A and & only

B and C anly

b~

C and D only
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Which of the foliawing funclions are performad by the stemaoon
A) Breaking cown of food
B} Adding cigesiive juices to the food
C) Foroing bhe food out info the smal mtestine

D} Yorcing the digested food into the large infestine

B onv

—~—,
——

B and Conly

—
3]

{3} A.Band C only

A

(4) ABCandD

hod just icken his iunch. Which of the following shows the path the
food would tabe °

N

{1 mouth=p cuflet> stomae n—% small intesine> loge intestina- anus

(2)  moulh-> cullst> stomach= larges infestine-> smaoll intestine-> anus
{ 3] mouth= windoipe-> stormmach-> {orge infestine— smail intertine > orus
{4) mouth> windpipe> stormach-> smail mieshnew-}!(‘!rqc miestne= anus

Which of ihe feliowing is/are true about the sl and the fbeage 2

FA} Thev protactihe delicate orgars in the body
{8} Thoevcontrof the movement of the body
() Thoy give the body its shape

J

The skull fonms a ball and sockeat oint while the nhoage forms

an immaovoble joint

——
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(21 Donky
D Vg 4 2
(3} Aang Conly

(41 Band D only
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26, Which of the following will take place whoen Joe bends his arrn as shown!

below 7?

(1) Hisbicepstelax T
(2) Hsthiceps contract
(3) Hisbiceps conticct ond his triceps ratan

{4) Hisbiceps relox and his fricops coniract

27, Look atthe clossification fable below.,
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Group X Groun Y )

IS vy
Shin sona

hipbone

finger bons Upper fhigh bhone

N A ¢ . e

skull

Uppear crmn tone

o

>N

Which of the following i wrongly arouped 7

{1) hiphone

]
t

(2) shinbcne

finger bone

O
A e

skl

Y v
InY
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28.

Whish por

poper alips
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least number of paperclips
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30.

Study the classification below.

=

_______ ek
Magnetic
[
iron

. Steoi
X
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What is X like[:.} o oe ?
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Non-magnetic

Copper
Silver
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Section B & {40 marks )

Write vour arawers in ihe spaces brovided,

31, Sudy the classification chart below carsiully,

-7 . ‘7/

| Aninals -
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S ; r f }
i A B C & ;
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§ Sngke P ! hMusse! | 5 Mync Maorkey !
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P Gupny Crab g ! Chicken | oer g
i . ¢ i ' ¢ ! - s ) i
g Crocedile ! | NGl . '; Farrol i PolorZeor
4 ‘ | i i i

v { _f. :

5 R N ¢ i ¢ i

o) E“-io:‘ e the above animals cfassified <1 rpark

(b)) Whion group (A, B, C or D) would you put the scaliop undar 7

Y marks)

e (o

32, wite “True” ot “Folse” in the blanks provided. (2 marks )
(o) Allinsects have two pons Of wing
{b) Notllbirds can fiv.
(e Theleavesof aplant take in cobon dioxide and give cu:-‘
axygen al the time,
(o Apngperpicte and a Iec. hay bag are macda from 3«wmmhw~ S

thotis onee olive,
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An insect has six legs. The three main bhody parts consist of the

" she 0 . _ondthe 0 . {drnouks)

Fishes is o group of animals that live inwater, Fishes have

e I

fo help them breathe in waler. The - » and kil erable harn to

swim. Fisheshave - ... . toprotect herbodies. (3 miotks )

Clossify the following animals correcily, (2 ks )

sefryantedter CHEPOY-— sworeHtal  oieturss
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The diagram obove shows the life-cycle of ononimal.

{a) NameStage 2. (1 mark)

¥

(b o ccterpitloris at Stage 2, whett is the adultlikely to bhe 7 (1 mark )

ey

37, Look abthe ploiuras bhelow. Based on what you see only, list one similarity

and org difference between the two lecivves.

(o) Similorityy . S _Clhmari)

=2

(o) Difference . .. L)

e
[
,‘\



38.  Labelthe parls ot the ieaf below, (& morks )

(a)

(d) Name ihe green substcnce found in the iacves,

Crmark

39, Group the following piamts in the classitication table halow,

rolasio oSS fremaioery SO
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| Piants
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L Flowering | Non-Fiowering |
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' Flowersgrow | Fowers grow |
In clusters singly }‘
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{ay  Which groun of organisrms do racxet fungus and shitake mushioom

balong o (1 mark)

(b)Y Powdothey reproduce ? {1 maric)

Labet the poris of tha skeletal system below. (3 mardks )

(aY
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Group the parts of our hody belaw.

wiadpipe

Guilzf
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43.  Study the table balow,

Type ot material

rleavy

Stond

Soad conduciaror he ot

D No NG NO |
- R — { - . e e
E No Yes Yoy

F

Yes

No

Which material should you use to moke @ pot for cooding

{2 marks )

?Why v
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Armad stroiead o copeear nall with a strong magret it fhe same cdirsction

many #mes. Next, ha put sorne paper clips near the cooper nail

() Wil the puper ohps be attracted 1o the copper nail ?

(ko)

RSP RIIES V N _

(O) Suppodyouronswerin{a) {1 mak)

i

Name two aciions which can cause ¢ temporary magnet 1o fo

magnetsm.

Can

se s

—CUmak )

(b5

Name fwo actions which can increasa the strength of an electx

Smagnet,

Ok

End of Paper
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1) 3 28) 3 29) 1 50) 4

2) 1 31) a) They are classivied by their outer coveriagp,

b) B

Lo
Nt
t2

=~
N
o

head thorax nhdecoen
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34&) gilis Fins gcales
)

35) spiny ;antester swordtsil
7) 4 platypus GUDTY

/

8) 2 36) a) Larva BY & boererfly
)
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a) They both have vzins.

10) 2 by A has an entire edge. B hus 2 jaggped-to:
il) 4 38) a) veins b)) Jeaf blade @) leai stzlk
12) 1 d) Chloranhyll

39) jasmane Toke fern
14) 2 frangipani ratflezia TSRERS
14) 4 40) 2} They belong to the group of fungi.

They use spores to reproddce.
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It protects the bhrain.

18) 4 42) heart mouth tangs
blood guilet vindpipe

erial B, it 18 s good cenductor of hear,
ong and it is not heavy,

5) Xt is a noa—magnetic material.

45) a) Heating ix

Y Dropring it sany rimes.
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46) @) Addiiwg mors bhatrerie
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b) Adding move coilsz.
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